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Explain how the Kaldor-Hicks criterion is consistent
with wealth maximization, Bring out the role of

marginal analysis and consent under the criterion.
(5+10)

R wesrk-Rew weE o aRiEaweE (wealth
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(a) Consider a contract between buyer B and seller S
for the delivery of a good that S must produce.
Suppose that the value of performance to the
buyer, V, nonsalvageable reliance by the buyer,
R, and. price, P (payable on.delivery) are:

V = Rs. 200, R = Rs. 50, P = Rs. 120

Suppose that at the time the contract was made,
the cost of production, C, was uncertain. However,
when the time of production arrives, it takes one
of five values (in Rs.): |

{45, 90. 185, 210, 240}.
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After observing C, the seller must decide whether

to produce and deliver the good, or not produce it
and breach the contract.

(1) For what value(s) of C (if any) is it

efficient to breach the contract?

(i) For what value(s) of C (if ‘any) will the
seller breach under expectation damages?
Under reliance damages? Under zero

damages? How do your answers compare
to (1)?

(b) Does a limited expectation damage measure (as

opposed to an un11m1ted one) lead to an eff1c1ent
level of reliance? | (6+9)

(37) @R B 3R fadar S & 99 v sm@y W AER =%
‘ @r%saﬁmmaﬁmmm%w

& fm weelw =1 W=, v, swRedsw ot

(nonsalvageable reliance), R, iR s, P (Rea® w
) B

V=200 ¥@, R= 50 ®@, P = T 120
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am%,zhugqfa@ﬂ'%WQWg(maq):

{45, 90, 85, 210, 240}
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frar 9T @ qHEE B BT Jedta B!
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(@) = T Qfa smer afd A (limited expectation
damage measure) (@A & @A) fefar & &
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3. (a) A local village landlord wants to hire Yogesh as
a laborer and offers the package “You work for
me for Rs. 50 for 8 hours per day or else I will
ensure that no shopkeeper in the village will sell
his goods to you.” Does this constitute a valid,

legally enforceable contract?



(s of control and should it
holds these rights?
(7+8)

(b) What are residual righ
matter which party to a contract
Explain with the help of an example.

(31) Wwﬁavﬁaaﬂwﬂéﬂuﬁmuﬁwmzﬁm
¥ e W e § ok dawr @ dwEmd wd
2 “sm N R wRRT 8 W & fw 50 €A A A
Wﬁ%mmﬁuﬁgﬁﬁaﬁm?nﬁrﬁamﬁ
‘ﬁmanw?rmmaﬁaﬁm"wug@
dy, TR T A W T A FEy 87

(7) frao & safinee MR (residual rights of control)
w1 ¥ 3k = g% Wy v © R ogEy @ fhe ue
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HRwI '

What are the assumptions implicit in the Pigovian view
of externalities? How does the Coase Theorem critique
them? Discuss in this context why the Coase Theorem
can be viewed as an irrelevance result? (5+7+3)
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5. (a) Despite the loss of welfare from patent, it is hetter
than the competitive outcome. Do you agree? Why
or why not? (3)

(b) The owner of a house has an unobstructed view
of the mountains from his window. However, the
owner of a vacant plot in front of the house
announces plans to build a house of his own.
Sup’pbse that a one-story house will partially
obstruct the view, but a two-storey house will block
it completely. The builder’s profit and the value

of the owner’s view is shown in the following

table :

No of stories Profit (Rs.) | Value of view
0 0 Rs. 7,00,000

1 10,00,000 Rs. 6,00,000

2 : 15,00,000 0

(i) Is it efficient for the house to be built? If

so, how many stories should it be?

(i) Suppose the original owner seeks injunction
halting construction. Describe the

. bargaining between the builder and the
owner if the court refrains to grant the

injunction.

R—
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(iif) Suppose the court grznts the injunction.
Can the builder bribe the owner not o
enforce it? (2+3+2)

/
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No of storles | Profit (Rs.) | Value of view

0, s 0., Rs. 7,00,000

E 10,00,000 Rs. 6,00,000
|2 15,00,000 0

(1) =@ 9% w & fofn & o o 37 9R
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(i) W= AR fF @ wlers Frfnr Iy = forg
e (injunction)?m%lu&:qmmuﬁ%{mar
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6. Distinguish between the due care approach and
the untaken precaution approach to negligence
determination. Explain in the context of an accident

in the Indian context. (15)
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7. (a) Consider the unilateral care model of accidents.
Explain how the following would affect the care
choice by the injurer?

(i) if the court systematically errs in setting
the due standard.

(i) if the court makes errors in calculating the

amount of the victim’s damages.
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(b) What nro (nallonability rulea? Are they Incompatible

with the goal of promoting efficiont oxchange of
proporty rights? (8+7)

< () yewsl & vl dwwe WEE (unilnternl care

model) W R w| wem o fn il R

W O e g e o fee w) g
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(1) R =marem foa = it o A e
¥ g’ W B

(i) @R seem GfRa & vaiv o) uftr o wom o<
¥ g’ = B

sraae e ( inalienability rules) wat ¥7 e & (ufy
? JER & HIA IE- WA T ougrE W f Wy
& WY I 87

8. In India, there is excessive litigation for compensaation.
Can higher compensation reduce litigation? Examine
the changes in the Land Acquisition legislation with

respect to just compe‘nsation in India. (B+7)

YR ¥ amaw & fore WWM%LW Siftres
YHG IEHSAGT hl A HK qHA 87 WRA N R
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